Team   Competition               	   Question:     1				Points:    3

What percentage of the whole numbers between 21 and 40 inclusive are prime?



Team   Competition               	   Question:     2				Points:    3

One day a mathematical grandmother calculates that the mean age of her five grandchildren is 7.2 years. 
Almost immediately she has a phone call to tell her that a new grandchild has been born. 
What is the mean age of her grandchildren now?



Team   Competition               	   Question:     3				Points:  4


What are the coordinates of the point where the line 
y = 2x crosses the line joining points (0, 3) and (3, 0)?  
Team   Competition               	   Question:     4				Points:    5

What fraction of the area of the 
regular hexagon is the area of 
triangle A? 

Team   Competition               	   Question:   5  				Points:    5

When Harry bought his train ticket he received
£2.50 in change. He noticed that for each coin
in his change there was exactly one other coin
of the same value. What was the coin of
smallest value in Harry’s change?


Team   Competition               	   Question:     6				Points:    5

Points A, B and C have coordinates (5, 2), (8, 2) and (8, 4). Rectangle ABCD is rotated 90 anticlockwise about point D. What are the coordinates of the image of C after the rotation?

Team   Competition               	   Question:     7				Points:   6

A jeweller is making a pendant from a circular disc of silver with radius 3 cm. From it he cuts out a circular disc of diameter 1 cm. What fraction of the area of the original disc is removed?


Team   Competition               	   Question:     8				Points:    6

S equals 20% of U, and U = 50% of M. 
If S + U + M = 80, what is S worth?


Team   Competition               	   Question:     9				Points:    6

How many possible different half-time scores are there in a football match which finishes in a score of Rovers 4 United 4? 

Team   Competition               	   Question:     10				Points:    6
A set of five different prime numbers has mean 8,
median 5 and a range of 15. What are the five prime
numbers? 

Team   Competition               	   Question:     11				Points:    6

What is the smallest whole number by which 2940 must be multiplied to make a square number?

 Team   Competition               	   Question:     12				Points:    7
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Not to scale
)The figure shows a regular pentagon
PQRST together with three   
sides XP, PR, RU of a regular 
hexagon with vertices PRUVWX.  
What is the size of angle SRU?
		

Team   Competition               	   Question:     13				Points:    7

If a × b = 2, b × c = 24, c × a = 3 and a, b and c are all positive, what is the value of a + b + c?






Team   Competition               	   Question:     14				Points:   9 

Five identical rectangles fit 
together as shown. 	                 15 cm		
What, in cm2, is the total area 
which they cover?


Team   Competition               	   Question:     15				Points:   9 
In a sequence of positive integers, every term
after the first two terms is the sum of the two
previous terms in the sequence. If the fifth term
is 2012, what is the maximum possible value of
the first term?




Answers:

1.   20%						9.  25
2.  6 years 					10.  2, 3, 5, 13, 17
3.  (1, 2)					11.  15
4.  1/3						12.   48˚
5.  5p						13.  10.5
6. (5, 7)						14.  270 cm2
7.  1/36						15.  1003
8.  5


